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[E) Abookcase has two shelves. The top shelf has 10
more than 1 the number of books on the bottom UEED oy
3 will you use to solve

shelf. There are 12 books on the bottom shelf. How this problem?’
many books are on the top shelf?

A 4 C 40

B 14 D 46

Cohen chose D as the correct answer. How did he get
that answer?

. . - =1
a Which expression equals 6 when a = 5.and b = 37 Remember o
Circle all that apply. use the order of

A 9b*+3a—-10 operations when
evaluating

B a'-20-3b

C 3a-2-a+6b

D

9b + ab

expressions.
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) Lilla read } of her book last week. This week she read

N What should the
3 times as much as she read last week. bt
variable in your
. Write an expression to show how much of her expression
book Lilla has left to read. Then simplify the represent?
expression.

b. There are 75 pages i Lilla's book. How many
pages does she have left to read?

Show your work.

Solution:
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1B Connie says an expression for the phrase “10 more
than the square of a number” is x® + 10. Sharon says
itis 10 Who'is correct? Explain.

(@ Write an expression for each word phrase.

a. 5 less than the quotient of a number and 2

b. 5 minus the quotient of a number and 2
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1@ Martin used some apples to make muffins. Omar used
some apples to make applesauce. Omar used 5 fewer
than half as many apples as Martin used.

. Write an expression to show the number of apples
that Martin and Omar used in all. What does your
variable represent?

b. Could Martin have used 10 apples? Why or why
not? Use the expression to help you decide.

Show your work.

Solution:

After you find the
solution, read the
problem again and
check tobe sure

that your solution
makes sense.
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